KYH 1500-0 Hozpy3quuk ynueepcanvHuvlit 6€3 0xcolicmuka

1103.9 1 103.10 u3MeHeHa




IIEM 800.15.000 Kporuimeiin
ons pecugepa



62,82,94

36 -

7
60,81,92
8 106,107

29




Iloocoeounenus PBJ]

PBJ[ L=0,5u

PBJ] L=0,4m

=i

PBITL=2,3m



KYH-1500-0 [Morpy3unk 6e3 q:KoiicTHKA

ITo3. Oo6o3HaueHue HanmeHnoBanme Koua-Bo
COopoyYHbIe eIMHUIIBI
1 KYH 1500.01.000M Pama 1
2 KVYH 1500.02.000 [Tanens HaBeCKH 1
3 KVYH 1500.02.000-01 [Tanenb HaBecku 1
4 KYH 1500.03.000 Croiika 2
5 KVYH 2000.04.000 Kponurreitn 2
6 KYH 2000.05.000 Tsra 2
7 KYH 1500.06.000M IlepexonHuk 1
8 KVYH 1500.07.000 Kponurreitn 2
9 KYH 1500.08.000 Tsra pasrpyxatomas 1
10 KVYH 1500.08.000-01 Tsira pasrpyxaronias 1
11 KYH 2000.09.000 ITomHOXKA 2
12 KVYH 2000.10.000 Pukcatop 2
13 KVH 2000.11.000 I'uapoumnunap 2
14 KVYH 1500.12.000 IMuapormnuaap 2
15 KVYH 2000.15.000 Kogmr 0,8m3 1
16 KYH 2000.00.010 Ocb  ($h30mm, L=104mm) 4
17 KVYH 2000.00.020 Ocp  ($30mm, L=137mm) 16
18 KYH 2000.00.030 Ocp (h35mmMm, L=137mm) 2
20 KVYH 2000.00.060 [Toxnepxka 2
21 KVYH 400.00.500 Crpenka 1
22 I1EM-800.00.010 Boir cnenuanbHbii 4
23 KYH 1500.00.100 Kponmreiin 4
24 KVYH 2000.00.160 Kponmireitn 1
25 KVYH 2000.00.160-01 Kponmreiin 1
26 OII11I 00.030 Boar M16x120 2 IUId TIOII0HA
27 ITEM 800.15.000 Kponiureiin nis pecusepa 1




29 KYH 01.710 Kianan 3aMeaaurebHbINR 1
Jeraamn

30 KVH 1500.00.402 Orpaxnenue 1

30A KVH 1500.00.402-01 OrpaxaeHue 1

31 KVYH 2000.00.403 Kponmreitn 2

32 KVYH 2000.00.404 Kponmrreitn T1T1IM 4

34 I[16M 1200.02.482 IInanka 2 s

MT3-82

36 KYH 2000.00.412 Kponureiin 1

37 KYH 2000.00.412-01 Kpounmreiin 1

38 KVYH 2000.00.009 Kpsbiika 22

39 KVYH 2000.00.809 Brynka 2

40 KVH 00.623b HINavHT DpyKUHHBIN 2

41 KVYH 400.00.401 Bunka 1

42 KVYH 2000.00.426-1025 Kponmreitn 1 nnst pecuBepa

44 I5M-800.00.403 Kponureiin 2

49 ITI1B 1900.00.008 Kppika 22
CraHapTHbIe M31eJus

60 Bonr M8x30.58.019 TOCT 7798-70 4

61 Bont M10x40.58.019 TOCT 7798-70 4

62 Bonr M10x50.58.019 TOCT 7798-70 4

63 Bont M12x40.58.019 TOCT 7798-70 4

64 Bont M16x50.58.019 TOCT 7798-70 8 orpax.

65 Bont M16x70.58.019 TOCT 7798-70 40

66 Bont M20x70.58.019 TOCT 7798-70 4




Bontr M20x60.58.019 TOCT 7798-70 4 g 1021.3
70 Bunt M10x20.58.019 TOCT11738-84 20
71 Bunat M10x35.58.019 TOCT11738-84 2
81 I"aiika M8 DIN 985 4
82 I"aiika M10 'OCT5915-70 4
83 I"aiika M 12 DIN 985 4
84 I"aiika M 16 DIN 985 24
85 I"aiika M20 DIN 985 4
92 [lait6a A.8.01.019 TOCT 11371-78 4
94 Hlait6a 10.65I'.019 TOCT 6402-70 4
95 Hlait6a A.12.01.019 TOCT 11371-78 4
96 [Hlait6a A.16.01.019 TOCT 11371-78 62
97 Hlait6a 16.65I'.019 TOCT 6402-70 34
98 IIait6a A.20.01.019 TOCT 11371-78 12 4 mrt. gns
1021.3
99 KVYH 2000.100.012 Macnenka 22
Hlaii6a 20.65I'.019 TOCT 6402-70 4 s 1021.3
100 PBJ1 10.01.050 Pykas L=0,6m 4
101 PB/1 10.01.020 Pyka L=0,4m 2
101A PBJ1 10.01.030 Pykas L=0,5m 2
102 PB/1 10.01.260 Pyka L=1,7m 2
103 PBJ1 10.01.300 Pyka L=2,3m 2
104 PB/1 10.01.390.01 PykaB L=3,7m 4
106 BPC 02.000 M20x1,5 Mydra pa3psiBHas (Mama) M20x1,5 4
106A BPC 01.000 M20x1,5 Mydra pa3psiBHas (nana-uunens) M20x1,5 4
107 laitka M20x1,5 TOCT15522-70 4 (st mydT pasp.)




JLJIs1 pecuBepa

KVYH 2000.00.002 Pykas 12,5x24-168 TOCT10362-76 L=0,6Mm
KYH 2000.00.003 PykaB 12,5x24-168 TOCT10362-76 L=0,8m
OI1111-18.100.057 XomyT cTskHOM 20x32

[1KY-0,8.04.030 [TepexomHuk

PBJI 10.00.004

Tatika HakuHaA

bosir M12x40.58.019 TOCT7798-70

I"aiika M12-6H.5.019 'OCT5915-70

[aii6a A.12.01.019T’'OCT 11371-78

bosir M16x50.58.019 TOCT 7798-70

Taiixa M 16 DIN 985

Hlait6a A.16.01.019 'OCT 11371-78

NINNA AR NN AR




KYH 1500.01.000M Pama nogbema B coope

KYH 1500.01.000M Pama 6 coope

boam M8x35
Hlanuba 8.65I" |
KYH 2000.00.007 Onopa mpyoonpd
KYH 2000.00.428 IIpuscum

KYH 2000.01.080

Tpyoonpoeoo YH 1500.01.010

~KVH 2000.01.080-01 Tpyéonposoo

IIIIB 1900.00.009 Kpsuuura

J KYH 2000.01.070
Tpyoonpoeoo

KYH 2000.01.070-01
Tpyoonpoeoo



KYH 1500.01.000M Pama noanemMa B coOope

Boir M&x35 I'OCT 7798-70

[aii6a 8.65I'.019 'OCT6402-70

O6o3HaueHne HaumeHoBaHue KoJ1-Bo
KVYH 1500.01.010T Pama 1
KVYH 2000.01.070 Tpybonposoa 2
KVYH 2000.01.070-01 TpybonpoBoa 2
KVYH 2000.01.080 Tpybonposoa 2
KVYH 2000.01.080-01 TpybonpoBoa 2
IIIB 1900.00.009 Kpeimika 2
KVYH 2000.00.007 Omnopa TpyOonpoBoia 8
KVYH 2000.00.428 [Tpmxum 4
4
4
4

KVYH 2000.00.160

TporHuK




KYH 1500.01.010T Pama

KYH 1500.01.010T Pama

YH 2000.00.803
Bryika

KVH 1500.01.010

O0o3Hauenue HaunmenoBanue Ko.-Bo
KVH 1500.01.010 Pama 1
KVYH 2000.00.803 Brynka 16




KYH 1500.06.000M IlepexoaHuK

O0o3HauyeHue HaumenoBanue Koua-Bo
K¥YH 1500.06.010 [NepexomHuk 1
KVYH 2000.06.050 Kponmreitn 1
KVH 2000.06.070 Tonkarens 1
KVYH 2000.06.402 Vroiok 1
KVYH 2000.06.601 Puxcarop 2
KVYH 2000.06.421 Poruar 1
KVYH 2000.06.422 Ilimanka 1
KVYH 2000.06.805 Brynka 3
KVYH 2000.06.806 Brynka 1
KYH 2000.06.807 [Ipyxuna 1
Bontr M8x20 I'OCT 7798-70 2
Bont M8x30 I'OCT 7798-70 2
Bont M8x50 I'OCT 7798-70 1
Bont M10x25 I'OCT 7798-70 4
T"aiixa M8. DIN 985 3
I'atixa M10 DIN 985 4
Illaii6a 8.01.019 TOCT11371-78 1




[Taii6a 8.65T". T'OCT 6402-70

N

KVYH 2000.100.012 Macnenka

H 1500.06.010

KYH 2000.06.402

KYH 2000.06.050
bonm M10x25

aiika M10

Bonm M8x30
Taiika M8

KYH 2000.06.422

Bonm M10x25
Taiika M10

KYH 2000.06.421

Bonm M8x50
T'aiika M8

Hlaiba 8.01..
KXYH 200006816 KYH 2000.06.070




[pecc-macnenral.2
KVH 2000.06.601

boam M8x20
Hlaiiba 8.65I

KYH 2000.06.805

Bce ocTasbHbie y3ib1 cM. B kaTtagore KYH-1500-0/1



